
 

 

𝑓 ℝ

𝑓(𝑥) = 𝑎𝑥2 + 𝑏𝑥 + 𝑐

𝑎 𝑏 𝑐 𝑎 ≠ 0

𝑓(𝑥) = 3𝑥2 − 7𝑥 + 3

𝑔(𝑥) =
1

2
𝑥2 − 5𝑥 +

3

5

ℎ(𝑥) = 4 − 2𝑥2

𝑘(𝑥) = (𝑥 − 4)(5 − 2𝑥)

𝑚(𝑥) = 5𝑥 − 3

𝑛(𝑥) = 5𝑥4 − 7𝑥3 + 3𝑥 − 8



 

 

𝑓 ℝ 𝑓(𝑥) =

𝑎𝑥2 + 𝑏𝑥 + 𝑐

𝑓(𝑥) = 𝑎(𝑥 − 𝛼)2 + 𝛽 𝛼 𝛽

𝑓

 

𝑓 𝑓(𝑥) = 𝑎𝑥2 +

𝑏𝑥 + 𝑐

𝑎 𝑓 😊

𝑎 𝑓 ☹️

𝑎 > 0 𝑎 < 0



 

𝑓

𝑓(𝑥) = 2(𝑥 − 1)2 + 3

2(𝑥 − 1)2 ≥ 0

2(𝑥 − 1)2 + 3 ≥ 3

𝑓(𝑥) ≥ 3

𝑓(1) = 3 𝑥 𝑓(𝑥) ≥ 𝑓(1)

𝑓 1

𝑓 𝑓(𝑥) =

𝑎(𝑥 − 𝛼)2 +𝛽

𝑎 ≠ 0

𝑎 > 0 𝑓 𝑥 = 𝛼 𝛽

𝑎 < 0 𝑓  𝑥 = 𝛼 𝛽

𝑓(𝑥) = 𝑎𝑥2 + 𝑏𝑥 + 𝑐 𝑎 ≠ 0 𝛼 = −
𝑏

2𝑎
𝛽 =

𝑓 (−
𝑏

2𝑎
)

𝑎 > 0 𝑎 < 0



 

𝑓

(𝛼 ;  𝛽)

𝑓

𝑥 = 𝛼.

 

 

 

 



 

 

𝑎𝑥2 + 𝑏𝑥 + 𝑐 = 0 𝑎 𝑏 𝑐 𝑎 ≠ 0

3𝑥2 − 6𝑥 − 2 = 0

𝑎𝑥2 + 𝑏𝑥 + 𝑐

 = 𝑏2 − 4𝑎𝑐

 𝑎𝑥2 + 𝑏𝑥 + 𝑐

 𝑎𝑥2 + 𝑏𝑥 + 𝑐 = 0

 𝑎𝑥2 + 𝑏𝑥 + 𝑐 = 0 𝑥0 =
−𝑏

2𝑎

 𝑎𝑥2 + 𝑏𝑥 + 𝑐 = 0

𝑥1 =
−𝑏−√Δ

2𝑎
𝑥2 =

−𝑏+√Δ

2𝑎

𝑓 𝑓(𝑥) =

𝑎𝑥2 + 𝑏𝑥 + 𝑐 𝑎𝑥2 + 𝑏𝑥 + 𝑐 = 0 

𝑓



 

𝑥1 𝑓

𝑓(𝑥1) = 0

𝑓 𝑥1

𝑆 𝑃

𝑎𝑥2 + 𝑏𝑥 + 𝑐 𝑆 = −
𝑏

𝑎
𝑃 =

𝑐

𝑎

 

𝑓

ℝ

𝑓(𝑥) = 𝑎𝑥2 + 𝑏𝑥 + 𝑐

 𝑓(𝑥) = 𝑎(𝑥 − 𝑥0)2 𝑥0 𝑓

 𝑓(𝑥) = 𝑎(𝑥 − 𝑥1)(𝑥 − 𝑥2) 𝑥1 𝑥2 𝑓

 𝑓



 

𝑓

ℝ

𝑓(𝑥) = 𝑎𝑥2 + 𝑏𝑥 + 𝑐

 𝑓 𝑓

 𝑓 𝑥0 𝑓 𝑥0

 𝑓 𝑥1 𝑥2 𝑓 𝑥1

𝑥2

𝑥 −∞                     + ∞

𝑓 − 

𝑥 −∞                     + ∞

𝑓 + 

𝑥 −∞         𝑥0   + ∞

𝑓 + +

𝑥 −∞         𝑥0   + ∞

𝑓 − −

𝑥
−∞      𝑥1 𝑥2        +

∞

𝑓 + − +

𝑥 −∞      𝑥1 𝑥2        + ∞

𝑓 − + −

a > 0 a < 0 

a > 0 a < 0 

𝑥1 𝑥2 𝑥1 𝑥2 

a > 0 a < 0 

𝑥0 

𝑥0 


